

G.4.a.ii)

 \bigcirc Calculate an expression for

$$\int_{1}^{e} \ln(x)^{k} dx \text{ in terms of } \int_{1}^{e} \ln(x)^{k-1} dx$$

and use this expression and the result from part a.i) above to build a table of the value

$$\int_{1}^{e} \ln(x)^{k} dx \text{ for } k = 1,2,3,...,15$$

evaluating only one actual integral.

 \bigcirc Use the integration by parts formula to get the iteration formula

$$\int_{1}^{e} \ln(x)^{k} dx = e^{-k} \int_{1}^{e} \ln(x)^{k-1} dx.$$

You supply the details.

$$u(x) = ln(x)^k$$
 and $v'(x) = dx$

This gives

Ę

u'(x) =
$$\frac{k \ln(x)^{k-1}}{x}$$
 and v(x) = x.

page 3

Plug into the integration by parts formula to get

$$\int_{1}^{e} \ln(x)^{k} dx$$

= $\int_{1}^{e} u(x)v'(x)dx$
= $u(x)v(x) \Big|_{1}^{e} - \int_{1}^{e} v(x)u'(x)dx$
= $\ln(x)^{k}x \Big|_{1}^{e} - \int_{1}^{e} x \Big(\frac{\ln(x)^{k-1}}{x} \Big) dx$
= $\ln(x)^{k}x \Big|_{1}^{e} - k \int_{1}^{e} (\ln(x)^{k-1}) dx$
= $\ln(x)x \Big|_{1}^{e} - k \int_{1}^{e} (\ln(x)^{k-1}) dx$
= $(e \ln(e) - 0) - (e - 1)$
= $e \ln(e) - e + 1$
= $e - k(\ln(x^{k-1}))$

N5.3.d.the page 4 ۲ RC: 01/25/13: Now this needs to be set up as a recursion formula. See attached movie. 기) $\Box f(x) = \int_0^1 (\ln [x])^{k-1} dx$ $\prod \operatorname{Int}(x) = \int_{1}^{e} (\ln [x])^{1} dx$ $\operatorname{Int}\left(\underline{l}_{\mathfrak{A}}\right) = \ln\left(\operatorname{Int}\left[\underline{l}_{\mathfrak{A}}-1\right]\right)$ $\operatorname{Int}\left(\underline{l}_{\mathfrak{A}}\right) = \begin{cases} \ln\left(\operatorname{Int}\left[\underline{l}_{\mathfrak{A}}-1\right]\right) & (\underline{l}_{\mathfrak{A}}>0) \\ 1 & (\underline{l}_{\mathfrak{A}}=1) \end{cases}$] Int (2) $\ln (2) = \begin{cases} \ln (\operatorname{Int} [2-1]) & (2 > 0) \\ 1 & (2 = 1) \end{cases}$ Substitute \bigtriangleup Int (2) = Int (2) Substitute \wedge Int (2) = 2 Simplify] Int (3) $Int (3) = \begin{cases} \ln (Int [3-1]) & (3>0) \\ 1 & (3=1) \end{cases}$ Substitute $Int (3) = \begin{cases} Int (3) & (3 > 0) \\ 1 & (3 = 1) \end{cases}$ Substitute $\bigcirc 3 = 3$ Simplify RDC 1.26.13 I think this is what you were looking for. ۵ RC: 02/04/13:Incorrect. Hint: $MyInt(\mathbf{n}) = \int_{1}^{e} (\ln [x])^{\mathbf{n}} dx$ RC: 02/04/13:Starting recursion relation using your integral computation above: $\int_{1}^{e} \ln(x)^{k} dx = \ln(x) x \int_{1}^{e} -k \int_{1}^{e} (\ln(x)^{k-1}) dx$ $MyInt(k) = \ln(x)x \Big|_{1}^{e} - k * MyInt(k-1)$] MyInt (1) $MyInt(1) = \int_{-\infty}^{e} (\ln [x])^1 dx$ Substitute

$$\int_{1}^{1} \sqrt{2} \int_{1}^{2} \ln(x) dx$$
 Simplify Simplify

N5.3.4.de page 5

$$\bigtriangleup MyInt (1) = x = e \atop x =$$

 \bigcirc Use integration by parts to prepare a table of the values of

$$\int_0^{\pi} \cos(x)^n dx$$

for n = 1,2,3,...,20 by evaluating only two actual integrals.

N5.3.d.the page 6 Here 's a little trick:

$$\int_0^{\pi} \cos(x)^n dx = \int_0^{\pi} -\sin(x)^{n-1} \cos(x) dx.$$

The integration by parts formula is

$$\int_0^{\pi} u(x) v'(x) dx = u(x) v(x) \Big|_0^{\pi} - \int_0^{\pi} v(x) u'(x) dx$$

Make the assignments:

$$u(x) = cos(x)^{n-1}$$
 and $v'(x) = cos(x)$.

This gives

$$u'(x) = -(n-1)\cos(x)^{n-2}\sin(x)$$
 and $v(x) = \sin(x)$.

With these assignments,

$$\int_{0}^{\pi} \cos(x)^{n} dx = \int_{0}^{\pi} -\sin(x)^{n-1} \cos(x) dx$$
$$= \int_{0}^{\pi} u(x) v'(x) dx$$
$$= u(x) v(x) \Big|_{0}^{\pi} - \int_{0}^{\pi} v(x) u'(x) dx$$
$$= \cos(x)^{n-1} \sin(x) \Big|_{0}^{\pi}$$
$$- \int_{0}^{\pi} \sin(x) (-(n-1) \cos(x)^{n-2} \sin(x)) dx$$
$$= 0 - ((n-1) \int_{0}^{\pi} \cos(x)^{n-2} \sin(x)^{2} dx)$$
$$= -n+1 \int_{0}^{\pi} \cos(x)^{n-2} ((1-\cos(x)^{2}) dx$$
$$= (n-1) \int_{0}^{\pi} \cos(x)^{n-2} dx - (n-1) \int_{0}^{\pi} \cos(x)^{n} dx$$

The upshot:

$$\int_0^{\pi} \cos(x)^n dx$$

$$= -(n-1) \int_0^{\pi} \cos(x)^{n-2} dx + (n-1) \int_0^{\pi} \cos(x)^n dx.$$

This looks bad, but it feels good because when you put

$$Int(n) = \int_0^{\pi} \cos(x)^n dx,$$

then you can see that:

RC: 02/07/13: Now do this problem correctly, using the previous problem as a model. ۲ \Box Int (n) = -(n+1) Int (n-2)-(n-1) Int (n) \bigtriangleup Int (n) + (n-1) Int (n) = -(n+1) Int (n-2)Move Over $\bigtriangleup n \operatorname{Int}(n) = -(n+1) \operatorname{Int}(n-2)$ Collect \bigtriangleup Int $(n) = -\frac{(n+1) \operatorname{Int} (n-2)}{n}$ Isolate)@ $\prod \operatorname{Int}\left(\mathbf{n}\right) = \int_{0}^{n} \left(\cos\left[x\right]\right)^{\mathbf{n}} dx$ Reduction formula: $\operatorname{Int}\left(\mathbf{\vec{n}}\right) = -\frac{\left(\mathbf{\vec{n}}-1\right)\operatorname{Int}\left(\mathbf{\vec{n}}-2\right)}{\mathbf{\vec{n}}}$ 🗟 Examples Int (1) Substitute Simplify \bigtriangleup Int (1) = sin (π) - sin (0) Simplify \bigcap Int (1) = 1] Int (2) $Int (2) = \int_0^\pi (\cos [x])^2 dx$ Substitute Reduction Formula first $\triangle \text{ Int } (2) = -\frac{(2-1) \text{ Int } (2-2)}{2}$ $\triangle \text{ Int } (2) = -\frac{(2-1) \text{ Int } (0)}{2}$ Substitute Simplify



page 8

$$(2-1) \left(\int_{0}^{\pi} [\cos \{x\}]^{0} dx \right)$$
 Substitute

$$(2-1) \left(\int_{0}^{\pi} [\cos \{x\}]^{0} dx \right)$$
 Substitute

$$(2) = -\frac{1}{2} (1 \pi - 1 \cdot 0)$$
 Simplify

$$(2) = -\frac{1}{2} \pi$$
 Simplify

$$(2) = -\frac{1}{2} \pi$$
 Simplify

$$(2) = -\frac{1}{2} \pi$$
 Simplify

$$(3) = \int_{0}^{\pi} (\cos [x])^{3} dx$$
 Substitute

$$(3) = \int_{0}^{\pi} (\cos [x])^{3} dx$$
 Substitute

$$(3) = -\frac{(3-1) \operatorname{Int} (3-2)}{3}$$
 Substitute

$$(3) = -\frac{(3-1) \operatorname{Int} (3-2)}{3}$$
 Substitute

$$(3) = -\frac{(3-1) \operatorname{Int} (3)}{3}$$
 Simplify

$$(3) = -\frac{(3-1) \operatorname{Int} (3)}{3}$$
 Simplify

$$(3) = -\frac{(3-1) \cdot 1}{3}$$
 Substitute

$$(3) = -\frac{2}{3}$$
 Simplify

ę

This electonic material is © 2008 by MathEverywhere, LLC, licensed to MathMonkeys, LLC. For more information, visit www.livemath.com

